Xpcal Calibration Parameters (2025-01-15)

V_Tx1 bg:
-0.003964 * 0.000506 (-12.77%)
V_Tx2_bg:
0.002959 + 0.000506 (17.11%)
apha RxPDpWSK 1.
0.156566 + 0.000149 (0.10%)
apha RxPDpWSK _2:
0.155392 + 0.000042 (0.03%)
apha TxPD1pWSK:
0.443867 + 0.000017 (0.00%)
apha TxPD2pWSK:
0.602669 + 0.000024 (0.00%)

e 1.
0.954659 + 0.000560 (0.06%)
e 2
0.948729 + 0.000160 (0.02%)
SP 1.
ca_SP P norm:
0.500758 + 0.000336 (0.07%)
ca_SP V_norm:

0.502682 + 0.000431 (0.09%)
SP_RxPD_norm_dan:

0.502680 + 0.005066 (1.01%)

SP_2:

ca_SP P norm:

0.499242 + 0.000192 (0.04%)
ca_SP V_norm:

0.497318 = 0.000239 (0.05%)
SP RxPD_norm_dan:

0.497320 + 0.005066 (1.02%)
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